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DPP

DAILY PRACTICE PROBLEMS

Class : XIIth Subject : BIOLOGY
Date : DPP No. :5

Topic :- Reproductive Health

1. Population explosion has occurred in the last:
a) 500 years b) 300 years c) 100 years d) 50 years

2. When the 3rd booster and the 4th booster dose of tetanus is given to a child?
a) 10 years and 15-16 years b) 2 years and 5 years
c) 4 years and 10 years d) 6 years and 15 years

3. Administration of progesterone, progesterone oestrogen combination and IUDs are effective in
a) 72 hr b) 48 hr c) 24 hr d) 96 hr

4. Cu®"ions released from copper releasing Intra Uterine Devices (IUDs)
a) Prevent ovulation
b) Makes uterus unsuitable for implantation
c) Increases phagocytosis of the sperms
d) Suppresses sperm motility

5. Which of the following disease is curable?
[. Hepatitis-B
II. HIV
I1I. Genital herpes
a) land II b) Il and III c) Iand 111 d) All of these

6. Oral contraceptives inhibits ...A... and implantation as the well as quality of cervical ...B.... to prevent the
entry of sperms.
Choose the correct option for A and B to complete the given statement of NCERT textbook
a) A-ovulation; B-mucous
b) A-oogenesis; B-structure
c) A-oogenesis, B-nucleus
d) A-spermatogenesis, B-mucous

7.  Coitus interruption is the withdrawl method of natural contraception.
This sentence is
a) True b) False
c) Sometimes (a) and sometimes (b) d) Neither (a) nor (b)
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NACO stands for
a) National Acid Control Organisation b) National Asisted Control Organisation
c) National AIDS Control Organisation d) National AIM for Control Organisation

In the production of test tube babies :

a) Fertilization is external and foetus formation is internal
b) Fertilization is internal and foetus formation is external
c) Fertilization and foetus formation is external

d) Fertilization and foetus formation is internal

Which of the following is the most sparsely populated state of India?
a) Manipur b) Arunachal Pradesh c) Rajasthan d) Meghalaya

Indian population forms what percentage of world population?

a) About 16% b) About 7% c) About 20% d) About 21%
Every ....... person is Indian in world
a) Fifth b) Sixth c) Ninth d) First

On which day, world population touched 5th billion?
a) May 11, 1985 b) July 11, 1986 c) May 11, 1987 d) July 11, 1987

Diaphragms are contraceptive devices used by the females. Choose the correct option from the statements
given below:

i. They are introduced into the uterus

ii. They are placed to cover the cervical region

iii. They act as physical barriers for sperm entry

iv. They act as spermicidal agents

a) iandii b) i and iii ¢) ii and iii d) iii and iv

From the sexually transmitted diseases mentioned below identity the one which does not specifically
affect the sex organs:
a) Syphilis b) AIDS ¢) Gonorrhea d) Genital warts

Family planning program was initiated in
a) 1941 b) 1951 c) 1961 d) 1981

Withdrawl method of natural contraception
a) Withdrawl of penis before ejaculation b) Withdrawl of penis after ejaculation

c) Avoid sex in ovulation d) Prefer sex in ovulation

MTP is being ...A... to abort even normal fetuses. Specially when sex of the foetus is ...B....
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Choose the correct option for A and B to complete the given NCERT statement
a) A-used; B-male b) A-misused; B-female
c) A-used; B-abnormal d) A-female; B-misused

19. Example of copper releasing IUD is
a) Cu-T b) Cu-7 ¢) Multiload-375 d) All of these

20. Which is related to males?
a) Oral pill b) Tubectomy c) Vasectomy d) None of these
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